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Note .~ Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper.
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i. (i) Sangeeta talks to her family in Maithili while
Reena in Standard Hindi. Comment on how their
languages are perceived in their school where

Hindi is the medium of instruction.

(i) Discuss any two design features present in
human communication which you think are the
most important. Support your answer with
suitable examples. (4,5)

OR P.T.O.
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Noam Chomsky states that children are born with a
blueprint called the Universal Grammar (UG).

(i) What is Universal Grammar ?
(i1) What was the reason to propose it ?

(iii) 'Discuss whether you agree with the concept of
uG?

(iv) What is the link between UG and LAD ?
- (2,2,2,3)
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(iv) @ saever i s sk WRf (LAD) X =
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2.  Look at the following sentences carefully :
o ‘
R A
ol
Eat your food
Open the window
(i) 1dentify the sentence type.

(ii) When are these sentences used ?

(iii) Suggest any two ways to show that the
underlying subject that you identify for English
sentences gi.ven above is the only possible
subject.

(iv‘) How is Hindi different from English with regard
to the underlying subject ? (1,1,1.4,1=8)

OR
Comment on any two:

(i) It is possible to maintain multiple identifies and
be a part of more than one speech community
at the same time.

P.T.O.
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(ii) Derivational morphemes can not be explained
by any one uniform rule of grammar.

(iii) Nature of Language (Cl.1) course sensitizes
you as potential teachers to deal with language
variation in your respective classrooms in the '
future. S (4,4=8)
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Eat your food

Open the window

(i) o= = war = sk Sir |
(n)wmmmaﬁﬁm%?
(un)mzﬁ%ﬁéaa&%w%mﬁvwm

am?hirama’%maﬁrﬁtﬁﬁaaaﬁﬁaﬁﬁw.
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3. (a) Identify and describe the followmg speech sounds

in terms of place and manner of articulation :
(i) k as in “kite’
(i) g as in ‘goat’
(iii) p as in ‘pop’
“{iv) b as in ‘bib’
(b) What are minimal pairs ? What do they help

establish 7 Give suitable examples from any one
language to support your answer. (4,2=6)

OR

(a) Identify the object, if any, in the following
sentences )

(i) Radha is a doctor.
(ii) My mom often bakes a cake.
(iitY) He locked the door.

(iv) I am going to the market.

P.T.O..
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(b) What can be c.ione to the above sentences to know
if they do have an object ? Suggest one possible
way and support it with evidence. (4,2=6)
() v R WA R wEw § Pefafew @ @ W
i 3k avi Fifw '
(i) ‘kite’ ¥ k’
(i} ‘goat’ ¥ ‘g’
(iii) “pop> ¥ *p’
(iv) ‘bib’ ¥ b’
() e g ¥ 7 A T enlE w1 ¥ weww € 7 I
I A e ? P R v ww A Suged e -

AR |
Rl
() Frfofes Tl ¥ § =% (R ) = aRPuior
L3 el

(i) Radha is a doctor.
(ii)) My mom 6ﬂen bakes a cake.
(iti) He locked the door.
(iv) T am going to the market.
(@) ¥ar = f o v ¢ oo T oww v f I
w4 2 7w wulad odw gaEe R e WRa SE
e A ) o
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4. Read the following sentence.

#F XN wE W T

(1) Form at feast four potential sentences by playing
with the order of words but not changing the
meaning.

(i) Translate the sentence given above into English.

(iii) Form as many potential sentences as possible
from (ii) by playing with the order of words but
not changing the meaning.

(iv) What observation(s) can you make when you
examine the sentences in Hindi as opposed to
English ? (2,1,2,1=6)

OR

Given below are some sentences from an unknown
language. Examine the data carefully

/2g0 : mbu/ ‘Boys laugh’
/zgo : fla : ks/ - ‘Boys weep’
/ske : mbu/ ‘Girls laugh’
/ske : fla : ks/ ‘Girls weép’

(1) Identify the words that correspond to boys,
laugh, girls, weep. '

P.T.O.
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(ii) How many morphemes do you feel the words
/zgo :{ and fske :/ have and why?

(iii) Do a morphological analysis of the word
‘unknowingly’ by specifying number_ of
morphemes, root, prefix(s), suffix(s), inflectional
and derivational morphemes. (2,2,2=6)

R @ = Ry -
i%a%mm%an
(i) mﬁwmgs@%maﬁmﬁgm%m
anwrﬁaamwl
(i) STg=m O = FAN A FEE Ay
(iii) % T e gT oo wEeet (i) & I A R
WG B 99 ST |
(iv) #ish & fRuda B o =1 vy | W a9 =N
Yerr TR AFA 8 7
- JrerEr

v FIRRE i & P @ @ R g § | T
& o W e S

f2g0 : mbu/ ‘Boys laugh’
/zgo : fla: ks/ ‘Boys weep’
/ske : mbu/ ‘Girls laugh’ -

/ske : fla : ks/ ‘Girls weep’
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(i) boys, laugh, girls, weep T= & WHFT T=A
Ff o i )

(if) IH FTER /zgo : / I /ske : / WA ¥ fra
¥ Ik i ?

(iii) ‘Unknowingly’ W& o woemenss fagoieur sfal <1
W fAfe s@ w e

-

5. Write short notes on any twe of the following :— -
(1) Language is often a tool of power.

(i) Wh— questions follow a rule-governed pattern
in Hindi.

(tii) Inflectional morphemes in English are finite.
' (3,3,6)

Fefafa ¥ ¥ A @ w aRa Rad fafw -
(i)wm‘aﬁ%wm%l
(i) Wh- w1 B8 ¥ P vl deF ¥ 5@ ¥4,
(iii) FASH ¥ Rvirawar R v 9 ¥

(100)****



